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Read the following instructions carefully before you begin to attempt the questions.
This booklet contains 100 Questions in all comprising the following Four parts.

Part-() : Quantitative Aptitude (25 Questions)
Part-(ll) : Reasoning Aptitude (25 Questions)
Part-(lll) : General Studies (25 Questions)
Part-(IV) : English Language (25 Questions)

All the questions are compulsory and carry equal marks.
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and find that no page is missing or replaced. If you find any flaw in this booklet, you must get it replaced
immediately.

Each question carries negative marking also as 0.5 mark will be deducted for each wrong answer.
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number, Test name/ld and name of the examination on the Answer-Sheet carefully before you actually start
attempting the questions. You must also put your signature on the Answer-Sheet at the prescribed place. These
instructions must be fully complied with, failing which, your Answer-Sheet will not be evaluated and you will be
awarded ‘ZERO’ mark.

Answer must be shown by completely blackening the corresponding circles on the Answer-Sheet against the
relevant question number by pencil or Black/Blue ball pen only.

A machine will read the coded information in the OMR Answer-Sheet. In case the information is incompletely/
different from the information given in the application form, the candidature of such candidate will be treated as
cancelled.

The Answer-Sheet must be handed over to the Invigilator before you leave the Examination Hall.

Failure to comply with any of the above Instructions will make a candidate liable to such action/penalty as may be
deemed fit.

Answer the questions as quickly and as carefully as you can. Some questions may be difficult and others easy. Do
not spend too much time on any question.

Mobile phones and wireless communication device are completely banned in the examination halls/rooms.
Candidates are advised not to keep mobile phones/any other wireless communication devices with them even
switching it off, in their own interest. Failing to comply with this provision will be considered as using unfair means in
the examination and action will be taken against them including cancellation of their candidature.

No rough work is to be done on the Answer-Sheet.

No candidate can leave the examination hall before completion of the exam.
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Quantitative Aptitude

‘A, 'B' and 'C', alone can do a work in 12 days, 15
days and 20 days, respectively. If they started work
together and 'B' left after 3 days, then in how many
days the remaining work will be completed?

(A) 3 days (B) 5 days

(C) 2 days (D) 6 days

In the given figure, if ZAPB = 36°, then value of ZAOB
is [Given 'O’ is the centre of the circle]:

(A) 136° (B) 128°

(C) 144° (D) 72°

Find the units digit of the expression: (14* + 34 + 52) .
(A)1 (B)0

©)3 (D)2

An article was sold at a loss of 8%. If it had been sold
for Rs. 460 more, then it would have been sold at a
profit of 15%. If the same article was sold for Rs.
2,440, then what would be the profit percentage
earned?
(A) 28%
(C) 22%

(B) 18%
(D) 16%

PA and PB are tangents to the circle and 'O' is the
center of the circle whose radius is 7cm. If PO is 25
cm then find the perimeter of quadrilateral APBO.

A
o P
B
(A) 64 cm (B) 54 cm
(C) 62 cm (D) 48 cm

The table given below shows average of the number
of bottles of two types sold by each shop and
percentage of number of Milton bottles sold out of
total number of bottles sold by that shop.

Note: Total number of bottles = number of Milton
bottles + number of Borosil bottles

Shops | Average number Percentage of
of bottles sold number of Milton
bottles sold
A 125 70%
B 150 35%
C 220 55%
D 180 80%
E 165 63%

Number of Milton bottles sold by shop 'C' is what
percent of number of Borosil bottles sold by shop 'D'?
(Correct up to 2 decimal places)

(A) 136.11% (B) 436.11%

(C) 336.11% (D) 236.11%

10.

11.

12.

13.

14.

15.
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Compound interest earned after 2 years on investing
a certain sum at compound interest of 5% p.a.,
compounded annually is Rs. 1,230. Find the sum.

(A) Rs. 10,000 (B) Rs. 11,400

(C) Rs. 12,200 (D) Rs. 12,000

Find the value of, if of ZX2% if x 42 =7,
(A) (-3ly) (B) (- 41y)
(C) (4y) (D) (- 3yty)

What is the value of cos75° + cos15°?

® ® f:

(©)V3 (D) V2

The fourth proportion of 9, 18, and 27 is same as third
proportion of 'k' and 18. Find the value of 'k'.

(A) 12 (B)6

©)9 (D)8

5 years ago from now, the average age of a group of
7 friends was 12 years. 2 years hence from now, if a
person of age 13 years leave the group and another
person who is 20 years old join the group, then what
will be the average age of the group 2 years hence
from now?

(A) 20 years
(C) 15 years

(B) 18 years
(D) 22 years

A 450 metres long train takes 24 seconds to cross a
pole. How much time will it take to cross a 225-metres
bridge?

(A) 36 seconds
(C) 28 seconds

(B) 42 seconds
(D) 32 seconds

The given pie-chart shows the percentage distribution
of marks obtained by 4 students out of total marks
obtained by given four students together. Study the
pie-chart carefully and answer the following question.

If average marks obtained by ‘A" and 'C' together is
144, then find the sum of marks obtained by given
four students together.

(A) 800 (B) 600

(C) 400 (D) 500

Anand and Amit started a business by investing Rs.
1,120 and Rs. 1,200, respectively. 30 months later,
Amit withdrew his entire investment. 3 years after
starting the business, find the proportion of profit
share of Amit out of total profit.

(A) (28/53) (B) (25/53)

(©) (1/2) (D) (7/15)

The given graph shows number of students in
different mark ranges. Study the graph carefully and
answer the question given below.

Note: No students scored marks in multiple of 10
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16.

17.

18.

19.

20.

21.

22.

23.

245

\
/ Mo

A
20./

0-20 20-40 40-60 60-80 80-100

210

Number of students who scored marks between 20-
40 is how much percent of total number of students
who scored marks between 40-60 and 80-100

together?
(A) 25% (B) 40%
(C) 20% (D) 80%

Simplify: = (VV128 + 26 —5 x 7.
(A)3 (B)9
(©) 12 (D)6

A student scored 32% marks in a test and failed by 52
marks. If passing percentage is 45%, then find the
maximum marks of the test?

(A) 400 (B) 450

(C) 360 (D) 300

Out of total distance covered by a man, he
covered 1/4™ of the distance with the speed of 30
km/hr, 1/3 ™ of the distance with the speed of 50
km/hr and rest of the distance with the speed of 75
km/hr. Find the average speed of the man during the
whole journey.

(A) 42 km/hr
(C) 48 z—j km/hr

(B) 362 km/hr
(D) 47 ;—j km/hr

If p? + 1 + 2p = 0, then find the value of:

4p3-10p
2p2=ip?
(A) (3/5) (B) (213)
(C) (6/5) (D) (113)

The number of solid spheres each of radius 3 cm, that
could be formed when a right circular solid cylinder of
diameter 8 cm and height 81 cm is melted and recast
to form the spheres.

(A) 44 (B) 36
(©)30 (D) 42
> _ . x*—4x3

If x*- x = 5, then what will be the value of ——.

(A)3 (B)2

)5 (D)1
2.1%2.1x2.1-1.2X1.2X1.2 . |

The Vaer Of 2.1X2.14+1.2X1.2+2.1x1.2

(A) 0.9 (B) 1.5

(©21 (D) 1.2

If x + 1/x = 4, then find the value of x* + 1/x*.

(A) 198 (B) 194

(C) 200 (D) 189

24.

25.

26.

27.

28.

20.

30.

x—2xtan? 45°

If S = sin? 45° + cot? 30° — 5cos? 30°, then
an? 45

the value of X' is:

(A) 0.32 (B) 0.65

(C) 0.625 (D) 0.75

The length of the edge of a cube is 6.3 cm. What will
be the volume of the largest sphere that can be

carved out from the cube?
22

(Take m="7)
(A) 156.328 cm? (B) 130.977 cm?
(C) 160.321 cm? (D) 172.324 cm?

Reasoning Aptitude

Select the option that represents the correct order of
the given words as they would appear in an English

dictionary.

1- Contour 2- Concept

3- Convent 4- Conserve

5- Connect 6- Conquer
(A)2,5,6,1,4,3 (B)2,5,6,4,1,3
(C)2,5,4,6,1,3 (D)2,1,5,6,4,3

By interchanging the given two signs and numbers
which of the following equation will be not correct?
+and x, 4 and 12

.44 +12%x4-6+11=94

.96 +4 +15-12 x2=50

(A) Both land Il (B) Only 11

(C) Neither I nor Il (D) Only 1

In the following question, four number pairs are given.
In each pair the number on left side of (-) us related to
the number of the right side of (-) with some
Logic/Rule/Relation. Three pairs are similar on basis
of same Logic/Rule/Relation. Select the odd one out
from the given alternatives. (NOTE: Operations
should be performed on the whole numbers, without
breaking down the numbers into its constituent digits.
E.g., 13 - Operations on 13 such as adding/
subtracting/ multiplying etc. to 13 can be performed.
Breaking down 13 into 1 and 3 and then performing
mathematical operations on 1 and 3 is not allowed)
(A)54-36 (B) 72 -48

(C)84-46 (D) 66 — 44

Select the option in which the given figure is
embedded (rotation is not allowed) .

(A) (B)

-

A
© ©) -/

Select the option that is related to fifth letter- cluster in
the same way as the second - letter cluster is related
to the first letter- cluster and the fourth letter-cluster is
related to the third letter-cluster.

CALM: XZJI :: WENT: BTQK :: RUSK: ?

o
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31.

32.

33.

34.

35.

36.

37.

(A) ROPH
(C) ORPH

(B) ORRH
(D) ROHP

In the following questions below are given some
statements followed by some conclusions based on
those statements. Taking the given statements to be
true even if they seem to be at variance from
commonly known facts. Read all the conclusions and
then decide which of the given conclusion logically
follows the given statements.

Statements: |. All Arts are Paints

Il. Some Paints are Colours

Conclusion: I. Some Colours are Arts

Il. No Colours are Arts

[ll. All Paints are Colours

(A) Only conclusion | follows

(B) Only conclusion Il and Il follows

(C) No conclusion follows

(D) Either conclusion | or Il follows

Four letter-clusters have been given out of which
three are alike in some manner and one is different.
Select the one that is different.

(A) KHM (B) DAG

(C) SPv (D) ONT

Select the number from the given option that can
replace the question mark (?) in the following series:
17, 26, 51, ?, 221, 390

(A) 100 (B) 115

(C) 132 (D) 95

A series is given with one term missing. Select correct
alternative from the given ones that will complete the
series.

HUGE, MBAW, RIUO, WPOG, ?, GDCQ

(A) BWIY (B) CXJY

(C) BXIY (D) CWIY

Which answer figure will complete the pattern in the
question figure?

(®)

©)

In a certain code language, 'ENGLAND' is coded as
'196' and 'WORRIED' is coded as '75'. What is the
code of word 'HIEST" in the same coding language?
(A) 158 (B) 145

©)171 (D) 169

Seven boxes, B1, B2, B3, B4, B5, B6, and B7, are
kept one above the other, however not in this
particular order. The box which is at the bottom is
numbered as 1, the box above it as 2 and so on. B5 is
three boxes above Bl such that both are prime
numbered boxes. There is one box between B5 and
B6. B3 is two boxes above B2. B2 is an odd

38.

39.

40.

41.

42.

43.

44,

numbered box. B7 is above B4. How many boxes are
below B4?

(A) Three (B) Four

(C) Five (D) Six

Select the set in which the numbers are related in the
same way as are the numbers of the following set.
(NOTE: Operations should be performed on the
whole numbers, without breaking down the numbers
into its constituent digits. E.g., 13 - Operations on 13
such as adding/ subtracting/ multiplying etc. to 13 can
be performed. Breaking down 13 into 1 and 3 and
then performing mathematical operations on 1 and 3
is not allowed)
(65, 39, 13)
(32,14,9)

(A) (41, 19, 9)
(C) (63, 21, 14)

(B) (40, 18, 11)
(D) (26, 8, 11)

In a certain code language, 'STORED' is written as
'WYSWII" and 'LAMENT' is written as 'PFQJRY". How
will 'RECALL' be written in that language?

(A) VIGFPQ (B) VIGFPQ

(C) VIGFPP (D) WIHEQP

Words given on the left side of (::) are related with
each other by some Logic/Rule /Relation. Select the
missing word/word pair on the right side of (::) from
the given alternatives based on the same
Logic/Rule/Relation.

Dholavira: Gujarat :: ?

(A) Hampi: Karnataka

(B) Elephanta Caves: Madhya Pradesh

(C) Ellora Caves: Tamil Nadu

(D) Sanchi Stupa: Maharashtra

Answer the following question based on the direction
given below.

If 'A#B' means 'A is father of B'

'A@B' means 'A is brother of B'

'A$B' means 'A is son of B'

'‘A%B' means 'A is daughter of B'

'‘A&B' means 'A is wife of B'
IfC%D&ES$F#G &H, then how is G related to D?
(A) Brother-in-law (B) Sister-in-law

(C) Sister (D) Cannot be determined

Three different positions of the same dice are shown.
Select the letter that will be on the face opposite to
the face having the symbol '!'?

@ % %
s |9 L @ |*
(A @ (B) &
©)$ (D) #

Three of the four words are alike in a certain way and
one is different. Pick the odd one out.
(A) FINP (B) ORTY
(C) CHKO (D) ELQT

Find the number of triangles in the given figure:

(A) 18 (B) 16
(C) 14 (D) 17
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45.

46.

47.

48.

49.

50.

51.

52.

Which among the following word cannot be formed
using the letters of the given word only once?
INVALIDATION
(A) NATIONAL
(C) INITIALS

(B) AVIATION
(D) VALIANT

Select the correct mirror image of the given
combination when the mirror is placed at line MN as
shown.

M

N
(A) (B)
©) (D)
Select the combination of numbers that when placed

sequentially in the blanks of the given series will
complete the series.

7 45 2768 _53__6_ 5327 _84__ 2
(A)8,6,4,3,2,7,4,4,6,5,3
(B)6,8,3,4,2,7,8,4,6,5,3
(C)6,8,4,2,2,4,7,4,6,5,3
(D)8,6,3,4,7,2,4,4,5,6,3

In a certain code language, 'EARN' is coded as '6'
and 'SOLD' is coded as '34. How will "'TRAP' be
coded in that language?

(A) 21 (B) 38

(C) 17 (D) 36

Choose the Venn diagram which best illustrates the
relationship among the given classes.
Class: Prime numbers, Whole numbers, Irrational

numbers
(A) @ (B) @
0 @O

© %

If it was Thursday on 1St February 1444, then what
was the day on 16™ October, 1444°?

(A) Friday (B) Sunday

(C) Thursday (D) Wednesday

General Studies

Which of the following dynasty was founded by
Vijayalaya?

(A) Nagama Dynasty
(C) Soma Dynasty

(B) Chola dynasty
(D) Sangama Dynasty

With which of the following states is the folk dance
"Dhalo" associated?

53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

64.
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(A) Kerala
(C) Madhya Pradesh

(B) Tamil Nadu
(D) Goa

How much capital outlay has been approved for the
Railways in the Union Budget 2023-24?

(A) Rs. 2.23 lakh crore (B) Rs. 2.35 lakh crore

(C) Rs. 2.40 lakh crore (D) Rs. 2.56 lakh crore

The hormone insulin which is used in treating
diabetes was discovered by Frederick Banting. He
was a/an medical scientist, physician,
painter, and Nobel laureate.

(A) Canadian (B) American

(C) Australian (D) Swedish

Who composed the Buddha Charita?
(A) Asvaghosha (B) Kanihska |
(C) Charak (D) Kanishka Il

Which  committee report recommended that
Scheduled caste status be completely delinked from
religion and be made religion-neutral like Scheduled
Tribes (STs) ?

(A) Ranganath Mishra Committee

(B) J. R. Varma Committee

(C) Mahajan Committee

(D) Shivraman Committee

"Vayudoot" was a regional airline in India established
on 20M January 1981 as a joint venture between
Indian Airlines and
(A) SpiceJet

(C) IndiGo

(B) Air India
(D) Vistara

'‘Hima Das' is associated with which sport?
(A) Athletics (B) Wrestling
(C) Tennis (D) Hockey

Article 148 of the Constitution of India provides for an
independent office of the .

(A) Advocate General of the State

(B) Attorney General of India

(C) President of India

(D) Comptroller and Auditor General of India

‘Davis Cup' is associated with
(A) Table Tennis (B) Polo
(C) Hockey (D) Lawn Tennis

With reference to the cultural history of the medieval
period, which material was used for royal dresses and
shawls in the courts of Muslim rulers?
(A) Kasuti (B) Himroo
(C) Toda (D) Rabari

Gond painting is a traditional art of which one of the
following states?

(A) Uttar Pradesh
(C) Madhya Pradesh

(B) Rajasthan
(D) Telangana

Chief Justice of India (CJI) gives his resignation to
which of the following authority?

(A) President of India

(B) Senior most Judge of the Supreme Court

(C) Prime Minister of India

(D) Speaker of Lok Sabha

While , data transfers from the
customer's machine to the server.

(A) Browsing (B) Uploading

(C) Forwarding (D) Downloading
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65.

66.

67.

68.

69.

70.

71.

72.
73.

74.

What is the full form of 'lADP' launched in 1960?
(A) Intensive Agriculture district programme

(B) Intensive Agriculture drought programme
(C) Institutional Agriculture district programme
(D) Institutional Agriculture drought programme

Which of the following statement is NOT CORRECT
associated with the "First Five-Year Plan"?

(A) Jawaharlal Nehru presented the First Five-Year
Plan.

(B) The First Five-year Plan was launched in 1951.
(C) The motto of the first five years plan was
'‘Development of agriculture’'.

(D) The First Five-Year Plan was based on the
Mahalanobis model.

Which of the following is NOT an example of scalar
quantity?
(I) Temperature

(1) Force

(i) Speed

Which of the above statement(s) is/are correct?
(A) 1 Only (B) Il Only

(C)Both land Il (D) All L, 11, and 11

'Sitar' is a plucked stringed instrument used in
classical music. Sitar is invented by which of the
following Indian musician?

(A) Amjad Ali Khan

(B) Khusrau Khan

(C) Kishan Maharaj

(D) Pandit Ravishankar Prasad

Name the outermost layer of Earth.
(A) Core (B) Mantle
(C) Crust (D) Corona

All-India Muslim League (AIML) was a political party
established in which year?
(A) 1860
(C) 1906

(B) 1897
(D) 1923

Which of the following is the best description of
"Barometer"?

(A) A scientific instrument used to measure
atmospheric pressure

(B A scientific instrument used for measuring or
evaluating hearing acuity

(C) A scientific instrument for the mechanical
recording & reproduction of sound

(D) A scientific instrument to measure pressure of
liquids or gases

Exercise Orion is a multinational exercise hosted by
which one of the following country?

(A) Russia (B) UAE

(C) France (D) Australia

is a measure of the force that can cause
an object to rotate about an axis.
(A) Torque (B) Gravity
(C) Acceleration (D) Displacement

Arrange the Correct order of the atmosphere layer
from lowest to highest.

(A)  Stratosphere,  mesosphere,
thermosphere, exosphere

(B) Thermosphere, troposphere, stratosphere,
exosphere, mesosphere

(C) Troposphere,  stratosphere,
thermosphere, exosphere

(D) Stratosphere, Troposphere, thermosphere,
exosphere, mesosphere

troposphere,

mesosphere,

75.

76.

77.

78.

79.

80.

81.

82.

83.

84.

Who was the founder of the Mongol Empire?
(A) Timur (B) Babur
(C) Genghis Khan (D) Alisher Navoi

English Language

Select the most appropriate antonym of the given
word.

WITHER
(A) wed (B) satiate
(C) resist (D) bloom

In the following question, one part of the sentence
may have an error. Select the option containing the
error as your answer.

Preserving what we value in (A) / the face of climate
change is (B) / complicated and often overwhelm by
(C) / the sheer volume of what we stand to lose. (D)
(A)A (B)B

©cC (D) D

In the following question, out of the four alternatives,
choose the one which best expresses the meaning of
the given word.

PREROGATIVE
(A) immaculate (B) destitute
(C) privilege (D) dotage

Select the most appropriate meaning of the given
idiom.

Drive a hard bargain

(A) negotiate effectively

(B) make a difficult decision

(C) accept one's mistake

(D) be unwilling to change one's mind

Out of the following choose the word which expresses
the word opposite in meaning to the given word.

Cognisance
(A) heed (B) initiation
(C) ignorance (D) notion

Select the most appropriate option to fill in the blank
and make a grammatically correct sentence.
The new manager is determined to the
company's productivity and efficiency through
innovative strategies.
(A) subdue
(C) hinder

(B) augment
(D) impede

Select the most appropriate word to fill in the blank.
The new restaurant in town has a/an menu
that caters to a variety of dietary needs.

(A) pathetic (B) limited

(C) inclusive (D) obscure

In the following question, a sentence has been given
in Active/ Passive Voice. Out of the four alternatives
suggested, select the one which best expresses the
same sentence in Passive/Active Voice.

The audience applauded the performer at the
ceremony.

(A) The performer had been applauded at the
ceremony by the audience.

(B) The performer was applauded at the ceremony by
the audience.

(C) The performer is applauded at the ceremony by
the audience.

(D) The performer has been applauded at the
ceremony by the audience.

Select the word which means the same as the group
of words given.
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A recurrent urge to steal
(A) dipsomania
(C) telekinesis

(B) kleptomania
(D) aphasia

Directions [85-89]: In the following passage some words have
been deleted. Fill in the blank with the help of the
alternatives given. Select the most appropriate option
for each blank.

Hunter-gatherers are the original knowledge workers,
cultivating hard skills with decades of practice. Until
the age of 20, hunter-gatherer kids don't pull their own
weight, burning more calories than they themselves
produce. But, once their skills are sharpened, they
are extraordinarily productive, __ (A) ____in a surplus
that would be widely shared. For big game, most
hunter-gatherers maintain strict social
dictating ___(B) ___that everyone has a collective
right to these resources. When our ancestors started
to hunt and gather, they unwittingly stumbled upon
the most__ (C) __ and effective insurance policy
ever known.

The origins of hunting and gathering are__ (D)
___, but things began falling into place as far back as
2 million years ago. That's when the game changed:
with the help of increasingly sophisticated tools, we

ruthlessly _ (E) __ new foods from savannas and
woodlands.
85. Find the correct word in each case.

(A) devouring (B) diverting

(C) hovering (D) hauling
86. Find the correct word in each case.

(A) assumptions (B) norms

(C) novice (D) errands
87. Find the correct word in each case.

(A) ensuing (B) aloof

(C) enduring (D) acerbic
88. Find the correct word in each case.

(A) meager (B) morbid

(C) murky (D) morose
89. Find the correct word in each case.

(A) amended (B) extended

(C) adjoined (D) extracted
90. In the following question, a sentence is given with a

phrase or idiom in brackets. Select the option given
below that can replace the bracketed phrase.

The doctor advised me to (cut off) on salty and fried
foods to reduce my cholesterol levels.

(A) cut out for (B) cut down

(C) cut up (D) No improvement

91. Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is
no need to substitute it, select No improvement.

After working for hours, her energy began to give
upto and she could barely keep her eyes open.

(A) give up (B) give off

(C) give out (D) No improvement

92. Given below are four jumbled sentences. Out of the
given option pick the one that gives their correct
order.

P. It would take possession of me completely, and my
legs would become paralysed.
Q. This handicap stayed with me as the years rolled

by.

93.

94.

95.

96.

97.

98.

99.

100.
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R. And whenever | did, whether | was wading the
Tieton or Bumping River or bathing in Warm Lake of
the Goat Rocks, the terror would come back.

S. A few years later, when | came to know the waters
of the Cascades, | wanted to get into them.

(A) QPSR (B) SRPQ

(C) PQRS (D) RPQS

In the following question, four different spellings of a
word are given, out of which only one is correct. Find
the correct spelling of the given word.

(A) asidous (B) assidous

(C) asiduous (D) assiduous

In the following question, a sentence has been given
in Direct/ Indirect speech. Out of the four alternatives
suggested, select the one which best expresses the
same sentence in Direct/ Indirect speech.

The teachers told me that the school had been closed
because of excessive heat.

(A) The teachers said to me, "The school is being
closed because of excessive heat."

(B) The teachers said, "The school was closed
because of excessive heat."

(C) The teachers said to me, "The school has been
closed because of excessive heat."

(D) The teachers said, "The school has been closed
because of excessive heat."

Select the correct alternative out of the four which
best expresses the meaning of the given word and
indicate it by selecting the appropriate option.

APEX

(A) pinnacle
(C) counsel

(B) depth
(D) warmth

In the question given below, rearrange the parts of
the sentence in the correct order, and choose the
correct option.

His sister

P. and enjoys reading books

Q. who is a voracious reader

R. is a librarian
(A) PQR

(C) QRP

(B) QPR
(D) PRQ

Out of the following choose the word which expresses
the right meaning of the given word.

Conspire

(A) Cooperate
(C) Collaborate

(B) Consistent
(D) Plot

Select the correct alternative out of the four which
best expresses the meaning of the given word and
indicate it by selecting the appropriate option.

NOXIOUS
(A) edible
(C) bland

(B) tame
(D) toxic

Select the correct spelling of the word.
(A) commitment (B) comitment
(C) commitment (D) committmant

In the following question, one part of the sentence
may have errors. Find out which part of the sentence
has an error and select the appropriate option. If the
sentence is free from error, select option D, i.e. 'No
error'.

Part of why misinformation (A) / spreads so readily is
that (B) / users are reward for popular posts. (C) / No

error (D)
(A) A (B)B
©c (D) D
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